Algebra I -4th  period


Problem Set #3 


        Name:____________________

Period:_______

Simplify the following:
1. 
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3.  Solve the equation.  Show your work.
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4.   Write the equation of the line that passes through the points    (-8, 0) and (-5, -3)   

5. Solve the system by graphing and check your answer:  a. Answer_________
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b. Check:

Solve each system by the method of your choice.

6.
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7.    
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8.    
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                           9.   
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10.
Which ordered pair is the solution set for this system of equations?




2x – 5y = 6




  x + 5y = 18


A)  (-2, -2)
B)  (-2, 4)
C)  (3, 3)
D)  (8, 2)

11.
Evaluate:  
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12.
Simplify  
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13.
Simplify  
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14.
If p = 5 and q = 2, then 
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